
BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

TR-34B BALL HITCH TOW BAR

(T-34-01B HITCH)

TR-34C CLEVIS HITCH TOW BAR

(T-34-01C HITCH)

TR-34SR SHOCK RING HITCH TOW BAR

(T-34-01SR HITCH)

TR-34R RING HITCH TOW BAR

(T-34-01R HITCH)

TR-34    UNIVERSAL TOW BAR

USE ON: AIRCRAFT WITH NOSE WHEEL

GTOW: 14,000 LBS.

LENGTH: 7' 8" TO 8' 8"

COLOR: ORANGE

SHIPPING: 96" X 13" X 3" @ 42 LBS.

 

SEE NEXT PAGE FOR EXTENDED TONGUE MODELS

 

CUSTOM CONFIGURATIONS AVAILABLE.

 

CHECK OUR ADAPTER CROSS REFERENCE PAGE

TO DETERMINE IF YOUR AIRCRAFT REQUIRES

ADAPTERS TO USE THIS TOW BAR.



BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

TR-34BL BALL HITCH TOW BAR

(T-34-01BL HITCH)

TR-34CL CLEVIS HITCH TOW BAR

(T-34-01CL HITCH)

TR-34SRL SHOCK RING HITCH TOW BAR

(T-34-01SRL HITCH)

TR-34RL RING HITCH TOW BAR

(T-34-01RL HITCH)

TR-34    UNIVERSAL TOW BAR

USE ON: AIRCRAFT WITH NOSE WHEEL

GTOW: 14,000 LBS.

LENGTH: 7' 8" TO 8' 8"

COLOR: ORANGE

SHIPPING: 96" X 13" X 3" @ 42 LBS.

 

CUSTOM CONFIGURATIONS AVAILABLE.

 

CHECK OUR ADAPTER CROSS REFERENCE PAGE

TO DETERMINE IF YOUR AIRCRAFT REQUIRES

ADAPTERS TO USE THIS TOW BAR.

EXTENDED TONGUE VERSIONS



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

FRAME ASSEMBLYT-34411

STRAPT-109A82

LEVER ASSEMBLYT-10323

LEFT END ASSEMBLYT-334L14

RIGHT END ASSEMBLYT-334R15

CRANK ASSEMBLYT-34516

3/8-16 X 2 1/4 BHCS S.S.92949A63327

1/4-20 X 1 1/4 BHCS91306A28048

1/4-20 FLANGE NUT92018A21049

3/8-16 FLANGE LOCKNUT92018A430210

SEE PAGE ONE FOR AVAILABLE CONFIGURATIONSHITCH (STANDARD RING SHOWN)111

KIT CAN BE ORDERED WITH TOW BAR OR SEPERATELYOPTIONAL T-4W WHEEL KITOPT. 

BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

2

3

5

4

9

8

1

10

7

6

TR-34 TOW BAR

11

OPTIONAL T-4W WHEEL KIT

TR-34R SHOWN, SEE COVER PAGE FOR AVAILABLE MODELS



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

CRANK ASSEMBLYT-10811

ACME TEET-112A12

PLAIN TEET-113A13

BUSHINGT-113D14

5/16 DELRIN WASHER95647A12915

5/16 THIN WASHER AN960-51616

5/16-24 DISTORTED THREAD LOCKNUT90949A02917

3/8 HEAVY DUTY SNAP RING1440-37PP48

BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

1

2

3

6

4

5

7

SOLD AS A COMPLETE ASSEMBLY

PARTS NOT SOLD SEPARATELY

8

8

T-345 CRANK ASSEMBLY



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

END TUBET-42711

PINT-412A12

SPRINGT-11613

HEADT-42514

BACKUP WASHERT-42315

PINT-40716

BARREL ASSEMBLYT-42017

1/4 X 1.025 GROVED CLEVIS PINCPG4-103-B18

1/4 SNAP RING1440-0023PP19

1/4 WASHERAN960-416110

3/32 X 3/4 ROLL PIN90692A147111

BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

VIEW WITH PIN DOWN

1

2

8

9

10

3

5

11

6

4

7

T-334L LEFT END ASSEMBLY



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

END TUBET-42711

SPRINGT-11612

HEADT-42513

BACKUP WASHERT-42314

PINT-40715

PINT-412A16

BARREL ASSEMBLYT-42017

1/4 WASHERAN960-41618

1/4 X 1.025 GROVED CLEVIS PINCPG4-103-B19

1/4 SNAP RING1440-0023PP110

3/32 X 3/4 ROLL PIN90692A147111

BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

VIEW PIN DOWN

5

11

6

7

3

2

4

9

10

8

1

T-334R    RIGHT END ASSEMBLY



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

LEVERT-10411

PLUNGERT-10512

SPRING354513

1/8 X 5/8 RIVETT125S00625014

1/8 X 25/32 CLEVIS PINMS20392-1C2515

1/16 X 1 COTTER PINMS24665-13616

BRACKETT AIRCRAFT COMPANY INC.

www.brackettaircraft.com

11/15/2017

BAC

4

2

6

5

3

1

T-103 LEVER ASSEMBLY



AIRCRAFT

PART NUMBER /

QUANTITY REQUIRED

ALBATROS AERO L39ZA T-730 (L) T-910 (R)

ALBATROS AERO L39C T-730 (L) T-960 (R)

AEROSTAR 600, 700P T-1030 (2 EA.)

AVIAT HUSKY TWA-10 (2 EA.)

AUGUSTA 109 T-625 (2 EA.)

BABY BUSHWHEEL TAILWHEEL 3400-B TWA-10 (2 EA.)

BEECH D18, STAGGERWING TWA-11 (2 EA.)

BEECH DUCHESS T-DEX (1 EA.)

BEECH MUSKETEER T-750 (2 EA.)

BEECH T6 TEXAN II T-730 (2 EA.)

BELL 430 T-515 (2 EA.)

BARRON, BONANZA AXLE TOWING T-1030 (L) TWA-DH (R)

BRITTEN-NORMAN ISLANDER BN-2 TWA-10 (2 EA.)

CESSNA 172, 182, 206 (92 & NEWER) T-N182 (2 EA.)

CESSNA 140, 170, 180, 185 (SCOTT TAILWHEEL) TWA-10 (2 EA.)

CESSNA 208 CARAVAN T-840 (2 EA.)

CESSNA 400 CORRALLIS T-730 (2 EA.)

CHAMPION AIRCRAFT TWA-10 (2 EA.)

CIRRUS SF-50 T-499 (2 EA.)

CIRRUS SR20, 22 T-349 (2 EA.)

COLUMBIA 300 T-730 (2 EA.)

COMMANDER  114 T-750 (2 EA.)

DEHAVILLAND BEAVER DHC-2 TWA-DH (2 EA.)

DIAMOND DA-20 T-260 (2 EA.)

DIAMOND DA-40 T-1500 (2 EA.)

DIAMOND DA-42, DA-62 T-700 (2 EA.)

ECLIPSE T-750 (2 EA.)

EPIC LT (CHECK FIT BEFORE ORDERING) T-535 (2 EA.)

AIRCRAFT

PART NUMBER /

QUANTITY REQUIRED

GENERAL ATOMICS GREY EAGLE MQ-1C T-499 (2 EA.)

GIPPSAERO GA8 T-P228 (2 EA.)

GLASSAIR T-GLA1 (2 EA.)

GRUMMAN AA-5, A, B T-N182 (2 EA.)

GRUMMAN COUGAR T-515 (2 EA.)

GROB 115TA, 120 T-700 (2 EA.)

HONDA JET T-960 (2 EA.)

HOWARD DGA TWA-11 (2 EA.)

LANCAIR IV, EVOLUTION T-730 (2 EA.)

MAULE (TAIL SPRING) T-MAULE

NORTH AMERICAN T-28 T-730 (2 EA.)

OV-10 BRONCO T-750 (2 EA.)

PARTENAVIA P68 T-730 (2 EA.)

PILATUS PC-6 T-PC6 (2 EA.)

PILATUS PC-12 T-451 (2 EA.)

PIPER AERO, SARATOGA, LANCE T-900 (1 EA.)

PIPER PA-18 TWA-10 (2 EA.)

PIPER PA-22, 28 T-P228 (2 EA.)

PIPER PA-28R, 32R T-900 (L) T-840 (R)

PIPER PA-46, MALIBU, MIRAGE T-820 (L) T-795 (R)

PIPER SPORT T-475 (2 EA.)

SHUKLOI TAIL WHEEL T-260 (2 EA.)

SOCATA TBM 700, 850 T-451 (2 EA.)

SOCATA TRINIDAD, TOBAGO T-375 (2 EA.)

SIKORSKY S76 T-750 ( 2 EA.)

VANS RV9A/RV10 T-750 (2 EA.)

WIDGEON G-44 TAIL WHEEL T-1375 (2 EA.)

YAK-18 T-P228 (1 EA.)

QUICK RELEASE PIN (INCLUDED WITH EA. ADAPTER) 98404A011

 T-1200

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

G G

H H

T-515

T-1100

T-750

T-P228

T-820

T-840

TWA-10

TWA-11

T-1375

T-260

T-375

T-451

T-625

T-730

T-DEX

T-1500

T-795

T-349

T-N182

T-700

TWA-DH

T-1030

T-475

T-PC6

T-910

T-960

T-535

98404A011

10-3-19

T-MAULE

T-900

T-FBO1 KIT,

THIS KIT CONTAINS 2 EA. (1 EA. T-DEX)

 OF OUR MOST COMMONLY USED ADAPTERS:

 

T-DEX, T-1030, TWA-10, T-N182

T-P228, T-840, T-820, T-795

T-349, T-730, T-260, T-1500

T-700, T-750, T-451

ADAPTERS FOR UNIVERSAL TOW BARS

T-499

T-GLA1

NOTE: ADAPTERS ARE SOLD INDIVIDUALLY,WITH

            THE EXCEPTION OF THE T-FBO1 KIT.


